KT3000 Part List

Legend Part Number Description Quantity Legend Part Number Description Quantity
|_Part No. |_Part No.

1 KTA14203 Retention Screws, Motor, PM 2 15 KTA14189 (Planetary gear Assembly - Stage 2 1
1A KTA14205 Cap, Motor PM 1 16 KTA14191 |Planetary gear Assembly - Stage 3 1
1B KTA14206 Brush Assembly, Motor PM 1 17 KTA14196 |[Freewheel Contact Plate 1
1C KTA14207 Motor PM Assembly Complete 1 18 KTA14201 (Screw, Freewheel Retaining 1

2 KTA14146 Gear, Stationary, Planetary and Motor Carrier Assembly - KT2500 1 19 KTA14197 |Freewheel clutch cam 1

3 KTA14208 Screw, M6X16, Tie Rod Retaining Screws 4 20 KTA14147 |Gear Box Housing 1
4 KTA14159 Brake Assembly 1 21 KTA14198 |Freewheel Clutch Knob 1

5 KTA4187 Planetary gear Assembly - Stage 1 1 22 KTA14185 ("O" Ring, Drum support seal 2

6 KTA14157 Drum Support Plate 2 23 M8 Nut M8, Mounting Hardware 4

7 KTA14177 Drum Bearing 2 24 KTA14129C (Circuit Breaker Assembly 1
8 KTA14180 Drum seal 2 25 KTA14113 (Solenoid Assembly - Sealed, Type SS-1 1
9 KTA14174 Spring, Freewheel Return Drive Shaft 1 26 KTA14104 |Rocker Switch - Mini 1
10 KTA14153 Snap Ring, Drive Shaft 1 27 KTA14117 |Hook, Clevis with Safety Latch 1
11 KTA14179 Drive Shaft 1 28 KTA14119 |Wire Rope Assembly 50'x 3/16" 1
12 KTA14183 Tie Bar 2 29 KTA14115 |Roller Fairlead 1
13 KTA14162 Drum 1 30 KTA14102 |Hand Saver Strap 1
14 M6X10 Screw M6X10, Drum support plate retaining screws 8 31 KTA14120 |Pulley Block Assembly 1




